PreCalculus *14-15
Trig Basics Test — Form A

Directions: Round at 3 decimal places.
Show all work.

1. (12, -11) is on the terminal side of A. Find the
six exact trig values:
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2. sinB=-% in Quadrant III. Find the other five

exact trig values: X= - [y
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3. tanC=-% in Quadrant II. Find the other five

exact trig values: =< x-= —-’33 Sy
sinCc= /< cosC=""/5

cotC= "3/7 tanC=-%

secC= ‘(/3 cscC= 5/4;

4.  Find the approximate values, in degrees, of A,
B, and C above.

A= ~42.510 2 369,

B="1S ) 92¥%36a,4

C=_(2L 530 T 2430

5. Find the approximate values of:

Cos 145°= ~ 819

Sin 896°= ‘%‘}‘ 30

Tan 5.46°= 096

Sec -1.781°= |_ 60D

Csc26°= 7. L%\

Cot973°= , 20t

6. Find the approximate values (in degrees) of:
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8. Ifs= 4T-21T and =121 - ST, find: 9.  Identify the Quadrant and reference angle of

each of these:
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c.  The unit vector in the direction T
LN
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8. A boat sails 31 mph at a bearing of 133°. The
current flows 6 mph at 215°. Find the magnitude and
bearing of the resultant vector.
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